MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE

METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
YKK AP America Inc. CONTRACTOR LICENSING SECTION
5630 Gwaltney Dr (305) 375-2527 FAX (305) 375-2558
Adanta GA 30336 covmacTox o sy

PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339

Your application for Product Approval of:

Model "20 D Narrow Stile" Aluminum Outswing Storefront Door w/ Panic Exit Devices.

under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade

County Building Code Compliance Office (BCCO) under the conditions specified herein.

This approval shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at anytime from a jobsite or manufacturer's plant for quality control testing.

If this product or material fails to perform in the approved manner, BCCO may revoke, modity, or suspend
the use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined BCCO that this product or material fails to meet the requirements of the South Florida Building

Code.

The expense of such testing will be incurred by the manufacturer.
Acceptance No.:00-0705.01 %/%

V. C-/
Expires:08/07/2003 Raul Rodriguez {/
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS

BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building Code
and Product Review Committee to be used in Dade County, Florida under the conditions set forth above.

1 e i

Wrancisco J. Quintana, R.A.
Director
Miami-Dade County
Building Code Compliance Office

1 of 3
Approved: 08/03/2000

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



YKK AP AMERICA INC. ACCEPTANCE No. : 00-0705.01

200
APPROVED AUG 03 0

EXPIRES : August 07, 2003
NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

1. SCOPE

1.1 This renews the Notice of Acceptance No. 98-0421.08, which was issued on October 01, 1998. It
approves an aluminum outswing storefront door, as described in Section 2 of this Notice of
Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter

23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

2. PRODUCT DESCRIPTION

2.1 The Model “20D Narrow Stile” Qutswing Aluminum Storefront Doors w/ Panic Exit Devices-
Non-Impact Resistant, and its components shall be constructed in strict compliance with the
following documents: Drawing No: 20 D, Sheet 1 through 8 of 8, titled “20D door”, prepared by
manufacturer, dated September 18, 1996 and revised on august 24, 1998, bearing the Miami-Dade
County Product Control Approval stamp with the Notice of Acceptance number and approval date
by the Miami-Dade County Product Control Division. These documents shall hereinafter be referred

to as the approved drawings.

3. LIMITATIONS

3.1 This approval applies to single unit applications of pair of doors and single door only, as shown in
approved drawings. Single door units shall include all components described in the active leaf of

this approval.

3.2 Unit shall be installed only at locations protected by a canopy or overhang such that the angle
between the edge of canopy or overhang to sill is less than 45 degrees. Unless unit is installed in

non-habitable areas where the unit and the area are designed to accept water infiltration

4. INSTALLATION

4.1 The aluminum outswing storefront doors and its components shall be installed in strict compliance

with the approved drawings.
4.2 The installation of this product will require a hurricane protection system.
5. LABELING

5.1 Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and

following statement: "Miami-Dade County Product Control Approved".

6. BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:
6.1.1 This Notice of Acceptance.

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed installation.

6.1.3 Any other documents required by the Building Official of the Florida Bulldlng Code
(SFBC) in order to properly evaluate the 1nstaW yst \ Yé
el

Manuel/Irerez P.E., Prodyct Cont 1 Examiner

Product Control DlVlSlon
2 0of 3



YKK AP AMERICA INC. ACCEPTANCE No. : 00-0705.01
APPROVED . AUG 0 3 2000

EXPIRES : August 07, 2003

NOTICE OF ACCEPTANCE.: STANDARD CONDITIONS

1 Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

2. Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approval", or as specifically stated in the
specific conditions of this Acceptance.

3. Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product

and the product is not in compliance with the code changes.
. The product is no longer the same product (identical) as the one originally approved.

c.  If the Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d. The enginecer who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

4.  Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

5.  Any of the following shall also be grounds for removal of this Acceptance:
a.  Unsatisfactory performance of this product or process.
b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other
purposes.

6.  The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

7. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site

at all time. The engineer need not reseal the copies.

8.  Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

9.  This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE

b

, '/ i
Manuel Perez, P.E., Profuet Control Examiner
Product Control Division

30f3



" » n ” » n » nEY. 7 ]
2 3/47 oy A7 77 4 2 3/4 2 3/4" | 1 17" g2 3/ 3.3/4" | 7" 17" 17" 17" | 3 3/4" s iscmo-oox_tcoum D
l MAX., N : . &é] - MAX. @ < [ Ot |
I R ’ FLUSI—)i l . <
o) AR BOLT ~N =
. M
T T T o T ? T i T T _“\? T T 2=
{ L } | | s | | | |
L 1 I
o— HF ld) =+ —o o— i l O—-'r————o -0— 1= | —FF —0
% d . N e 7 / \ ©) A\ INDEX OF DRAWINGS
. | / % 7/ /
@ 212 @ / 2|2 @ @ / DESCRIPTION SHEET #
INDEX_& ELEVATION 1
o— HiI— 4 A o o— N 5 ot Y N B AN /O\[ELEVATION 2
© / O = . DOCR DETAIL 3
. - A A< | A[FLUSH BOLT DETAIL n
/ o S 3 g o 7/ (INACTIVE LEAF (ACTIVE LEAF) N SRS MATERA T o
/ 8 - I \ =1 it Bl ) ) SI= = UST FOR SINGLE DOOR| 958
o— __< 1__/1.—_ L 5 o— q__a N 2 I o= 2 T — . I - MATERlAL/PART 7.8
STANDARD S STANDARD —IT —© ¥| S| B3| O~ TN smnoaro NsTaNoARD —T —° I S| & LIST_FOR PAIR_DOOR
\PUSH/PULL i _ L J PUSH/PULL/ m| S| . ‘ PUSH/PULL | JIL |  PUSH/PULL S1o|”
g 2 o : 2ol = \ o ’ ol
\ qlng ® ® ol 9|8
~ . . ~
T &"“'“_O o~ I /&"‘"“’O < T 1T \& /&_‘”"_O <
30 3/8" D.L.O. : 30 3/8" D.LO. ) 30 3/8" D.L.O. 30 3/8" D.L.O.
S :
@ \\ - // @ Z \ / @ .
o bk Il o— A Y N— RPN | ) TR T ] S A— e
o L —
R PSR G R R PO o PO SR R
3/4 ! 14" | | 5 3/4 5 3/4 | 147 | 14" | 5 3/4" 5 3/4 | 14 | 14 | & I | 14" | 5 3/4"
A, ] 1 VIO ! YR ! l 1
1.3/4" 3'~0" D.O.W. 1 3/4" 1 3/4" 3'-0" D.OW 1 3/4" 1 3/4" 6'~0" D.O.W. (MAX) "
LYY LW | BN 1 3 4
(MAX) (MAX) A
3/8 3'-3 1/2" WIDE 3/8" 3/8" 3'-3 1/2" WIDE 3/8" 3/8" 6'~3 1/2" WIDE 3/8" 7
RHR LHR APPROVED AS COMPLYING WTH THE
/A TYPICAL ELEVATIONS — SINGLE DOORS /A TYPICAL ELEVATION — PAIR OF DOORS SOUTH FORIDA BULDING GODE
SCALE: 1/2" = 1'=0" SCALE: 1/2" = 1'-0" onte A gus? £3, 202°
BY M/
— ALL SIZES NOTED ARE MAXIMUM SIZES: SIZES SMALLER IN WIDTH & HEIGHT ARE PERMITTED. ‘fj’m“ﬁf,"gg;g”ﬁjﬁ:‘ﬁ _—
1 T} B i i
— CAULK JOINTS AND SHIM SPACE: MAX. 1/4” (FOR TOP) MAX. 3/8” (FOR VERT.) sccepTaNcE No, 000 2080/
Aow PART%OOR PARTS USgESPgElPLT%: STAN[S,?SS Wiiilc A\DESIGN  |WHERE WATER INFILTRATION|WHERE WATER INFILTRATION |F -
T ST JEl-0051 [ PUL PGATE . _L_ 5 @1 PRESSURE|REQUIREMENT IS NEEDED |REQUIREMENT IS NOT NEEDED - AP'M“ERICA .
| 1_jE1-0055 | PUSH BAR O~ T -~ 7] POSITIVE NOT APPROVED +65 PSF 5630 GWALTNEY DRIVE
(>= 316" FuLLy TeuPER GUsSS A1 P=3304 | PANIC PULL I R B EoAT ___NTUAA GeoGih, 30338 __
510302 | BOTIOM PNOT 5 3 IVE NOT APPROVED —65 PSF e
T 1€120304 | ToP PVOT T T O T -0 20D DOOR
ANCHOR FASTENERS 2 | E1-0331 FLUSH_BOLTS (INACTVE) _ 8 Q A FRAME PARTS UST PER LEAF DOOR TYPES mu
—_——— g - mTHRESHOLD ANCHOR 11 P=2100 1~ HOOK LOCK QCTNE) _""O —- QTY| PART# DESCRIPTION STANDARD PANIC DECRPTION .
#14 x 1 3/4 FHSMS (AB) —2—— c-a:-ié-ao—— 4o R-E‘?-E-YI:I_ND—ER Cc?[v:) _____ _O_ ________ _1— _5_1_—0_30_0_ 1 __B_O__IT_Q_M__PHO_T_(_) —————— ____Q___ ~_Q—_ INDEX OF DRAWING & DOOR ELEVATION
OR 1/4" X 2 1/4" FH TAPCON 2| P=2601_ | CYLINDER TRIM RING (ACTVE) | _Q _ | _ . _ | 1 [€1-0301 | BOTTOM PIVOT(L) _ _ _ _ _ _ | _{ Q. L _ Q] = ANODIZED OR PAINTED
— — —O =[Z] HEAD, JAMB MULLION ANCHOR | A1 |P=2323 | EXIT DEVICE _ _ _ - — =T — e ] T E1=6303 T Top pwvor 5 S B __
oR 15:14 x 3 1/2 ":'HHSMS (AB) A1 | P-2362 EXIT DEVICE ~ — — ~ ~ "~ T 7~ "7 ®2 7| 1 [E1-0319 | FLUSH BOLT STRIKE (FOR PAIR) O 200 C
4" X 3 3 ; aY ]ORN 3.
/ /4 TAPCON 1 |E9—0332 MEETING STILE COVER (ACTIVE) @) (@) NOTES:® SELECTICN PART (SELECT AMONG NUMBER GROUP) m":g’l Ps.;' ?;:/18/9 s.;mOI" 8
Gr\ SYSOWGS\ THT\ TD4P SFBC 1 ~4.0%8




7 - * *
% DRy > N @ > Y ’ \ CD ]
2 - 7 - / / -
O, O < O
/ \ / N\
®/ g ® \ 2 / N E
/ = = 7/ (INACTIVE LEAF) (ACTIVE LEAF) =
</EXIT DEVICE\_J T ] /EXIT_DEVICE \\ T ¥ Exnpoavncr-:\r. - ] x
W/ PANIC. PULL E 2 W/ _STD. PULLY] Q W/ PANIC PuLL Q::Q A 2
AN bw-c] =C|D C 7/ =CID A ] R ’ =C!)
\ ~ / ~ \ ® / ~
\ @ / @ \ /
\ / ® \ / @
@ N / 2 AN / 2
A AN
N L X
1.3/4" 3'—0" D.O.W. 1 3/47 1.3/4 3—0" D.O.W. 1.3/4" 1 3/4 6'-0" D.0.W. (MAX) 1 3/4”
(MAX) (MAX)
ELEVATIONS — SINGLE DOORS ELEVATION — PAIR OF DOOQRS
SCALE: 1/2" = 1'-0" SCALE: 1/2" = 1'-0" .
/| & R R
4 © , > \ ©) > y , @ >
- / - 7 % -
@ O & O
\ / A
ZEXIT DF_VICE < EXIT_DEVICE < /EXIT DEVICE <
2N . P=2362 \| . )/ 62 Lt N :
A w/ T8 BoLL T =7 W/ PANIC_ PULLK T A w/ ST B N T
N Q :B % 9 \ 1 9
L o a ] 7 o
\ i ? 5 / CIJ \ (INACTIVE LEAF) Ll (ACTIVE LEAF) 7 c|>
\ © .7\ / ® ~ ® ~
AN /
\ / ® \ / 4
AN /
@ \\ z/ @ Z @
1 A NA
1.3/4" 3'-0" D.OM, 1.3/4" 1.3/4" 3'-0"_D.OM. 1 .3/4" 1 3/4" 6-0" D.OW. (MAX) 1374
(MAX) (MAX)
ELEVATIONS — SINGLE DQORS ELEVATION — PAIR OF DOORS
SCALE: 1/2" = 1'=0" SCALE: 1/2" = 1'-0”

NOTE: ANCHOR SPACING, DESIGN PRESSURE, CAULK JOINT AND SHIM SPACE,

GLASS LEGEND

<>= 3/16" FULLY TEMPER GLASS

OVERALL SIZE, AND DAYLIGHT OPENING (PANEL): SAME AS SHEET 1.

APPROVED AS COMPLYING WITH THE

iSOLT FLORIDA BUILDING CODE
| DATE vauil O 3, 2009
fsv 7

LErovucT conTRal DIV:S.ON

BUILDING CODE COMPLIANGE OFFICE
ACCEPTANGE N0, 09 -0 7040/

A

wiaC |
YKK AP AMERICA INC.

5630 GWALTNEY DRIVE
ATLANTA, GEOGIA, 30336

SrsTed SCALE
' 1/24
200 DOOR QTG
SINGLE
DESCRPTION

DOOR ELEVATION

ANODIZED OR PAINTED

DRAMING  NUMEER REVISION
20 0 c

APPACMED BY | ORAWN BY QATT SHEET NO.

. A0l DHM | 8/13/98] 2 OF 8

Gr\ STSOWGS\ THI\TENPASFBCI - 4.0%G



@ REY. DECRrTON W] owE
LQJ f/Hxs 1//2' FHSMS(AB) OR : :m;;n APPLCATION AQL M
1/4°x3 3/47 FH TAPCON G A a/11/98)
&_ A MIN. 1 3/8° EMBEDMENT 2% FOR A_SIA_HQA&Q Lé}. £9-0314 NDAR
33 Z: /‘ STRUCTURAL SUPPORT
5 =
: - .
= o E1-1054 - 2 1/27G AT MAX,
L % EACH ANCHOR SCREW
152 A— Bl ‘
- H £2-0050 _\ A /
¥ § DETAIL = 7 | Lo A A ]| TN = 4
o 2 1/2 SCALE “T E1-1054 — 2 1/2°LG AT . £9-0421 -
Ay g ||~ TEACH ANCHOR SCREW /A\ A 1/4"x5" FH TAPCON /
> 3 / MIN. 1 3/8° EMBED
- | ONRY
: $14 X 3 1/2° FHSMS(AB) ! I NTO MAS ' /
1 3/8" EMBEDMENT }/ i /
N £9-0402 ! £9-0301 £9-0339 & £2~0051 :
' | E£2~0050 OPTIONAL i ! /
2| N\2-0051 A ! / S S~ {
a N ' H / N | '
" ~_E9-0305 l ' il Y 1 /
|, = I
R ,:_-‘_/
l // L > £ =
2 £2-0050 3 '
;.4 g ~ E2-0050
- - STANDARD A
/ 3/32° 2 1/8" 19/32° 19/32" 2 1/8° 3/32" //
3/8" SHIM SPACE | 1 3/4" D.OW 1 3/4" l 3/8" SHIM SPACE
41/2" (MAX) (MAX)
l DETAIL (", . DETAIL
' 1/2 SCALE 1/8 1/2 SCALE
z @ 19/32 2 3/16 2 1/8 19/32 ,
: A |
h
p £9-0339 E9~0314 §8x3/4"
- // OPTIONAL g : FHSMS(AB)
187 0.C.
A\ 0PTIONAL A APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
£9-0306 ouip AV gust 68,2200
£9-0339 / By ’
&
DETAIL 5 A £9-0302  £9-0332 £9-0329 /@BUCT CONTROL DIV.S ON
© STANDARD A\ 1/2 SCALE 59_-°3if\ \ e | BUILDING CODE COMPLIANCE OFFICE
S | ccepTanc no, 00~ 27918 9(
- #8x3/47 '
? £9-0348 FHSMS(A8)
_ 187 0.C.
|/ OPTIONAL & A STANDARD A
o = E9-0347 DETAIL SAec
Z| 1/2 SCALE A YK AP AWERICA INC.
> 0 GWALTN
MINIMUM 1 3/8" EMBEDMENT 17/32 17/32" ATLANTA, GEQGIA, 30336
AT ALL ANCHOR FASTENERS & —;L_‘l & £2-0087 L-L_L— & s
UNLESS OTHERWISE NOTED £9—0339 200 DOOR 1/2
\ Q@EDNG
N SINGLE
ggi/saa) DOOR DETAIL
18" 0.C.
A\ QPTIoNAL A ANODIZED OR PAINTED
F14 X 1 3/4" FHSMS(AB) OR E2-005Q [ﬁ © 200 C
1/4°x2 1/4" FH TAPCON FPPROVED &Y | DR BT DATC SHELT MO,
MIN. 1 1/4 EMBEDMENT A0l R.B.E. {09/20/96{ 3 OF 8

G\ SYSOWGS\ YHS\ TEMP\ SFRC Y- 4.0WO



1/4" SHIM SPACE
(MAX)

—

1.3/4"

1/8"

£1-0318

11 1116

i phte Sy | \
l
7: :_é: £9-0402

E1-0321 /’ \E2-0051

48

rd o\
WY/

5 1/4"
]

4 /4"
!
!
!
I

L
14
W

D
>

-~

~

l 4 1/2°

~32x1/2° FH NS

E1-0331

) .Nw
) \_£9-0302

FLUSH BOLT @ THRESHHOLD

FLUSH. BOLT

OESCAFTION a DATE

13

N-0ADE REQ. (NEW SHELT) | AL 8711788

1.3/4"

AN

DETAIL
1/2 SCALE

S 1/4

FLUSH BOLT @

HEAD

DETAIL
1/2 SCALE

/

/

(INACTIVE LEAF)

AN

7"~ 0" D.O.H. (MAX.)

§' — 0" D.O.W. (MAX.)

11 11/16"

3/16

4 1/2°
o
\)
£9-0302
r a
ey
. an
i SSRGS 1§ QU S 0.1 o A
b
\~
M~ E1-0331
\tj | |t~ #8-32x1/27 FH MS
-\/
£9-0343
/OPTIONAL
£9-0347
OPTIONAL
E2-0067
E9-0407

/2t

V/

2

TYPICAL ELEVATION — PAIR OF DOORS

SCALE: 1/2" = 1" — Q"

CPRODUCT CONTREL D1vis ON

"APFROVED AS COMPLYING WITH THE

'SOUTH FLORIDA BUILDING CODE
DATE Jos7 03,2297
7 ”

7 A

BUILDING CODE COMPLIANCE OFFICE
acoeprance No, 99207052/

YKK AP AMERICA -INC.

5630 GWALTNEY DRIVE
ATLANTA, GEOGIA, 30336

SCALE

200 DOOR 1/2

QNG
SINGLE

FLUSH BOLT DETAIL

ANODIZED OR PAINTED

ORAMG MR AESION
200 [
APPROVED BY | O B | GATC LT MO,
J.ALL A0l 08/11/981 4 OF 8

GI\SYSOWGS\ YHS\ TEMM\ SFEC4—4.0W0



S

MATERIAL LIST PART LIST A merica
DESCRIPTION SHAPE # CUT LENGTH QTY CUT FORM REV [ DESCRIPTION | PART# JQTY] MATERIAL | LENGTH [COLOR] REMARK R
TOP RAIL E9-0305 [D.O.W.-47/16" 1 < FOR ALL DOOR >
JOINT CLIP E1-0308 | 2 6063-T5 FOR TOP RAIL
JOINT CLIP E1-0309 | 2 6063-T5 FOR BOTTOM RAIL
BOTTOM RAIL E9-0306 |D.O.W.-47/16" 1 BACKER PLATE E1-0311 | 4 SPCC or SPHC FOR E1-0308 & E1-0309
RIV NUT P-5002 | 1 ALUMINUM 1/4" - 20 FOR ADJUSTMENT
LEFT STILE E9-0301 |[D.O.H.-13/16" 1 RIV NUT P-5003 | 2 STEEL 1/4" - 20 FOR PANIC PULL
GLAZING GASKET E2-0050 EPDM 2D.0W. + 4 D.OH. - 46 1/4” ' C
SETTING BLOCK E2-0054 | 1 EPDM C
RIGHT STILE E9-0301 |D.O.H.-13/16" 1 GLASS SPACER E3-0004 | 2 POLYAMIDE C
ADJUSTABLE CAP E3-0005 | 1 POLYAMIDE C
SH BOLT SM3810| 6 STEEL 3/8" - 16 x 5/8" FOR JOINT CLIP
GLASS STOP (HORIZ.) E9-0314 |D.O.W.-51/2" 4 PH MS PM2528 | 1 STEEL 1/4" - 20 x 1 3/4" FOR ADJUSTMENT
GLASS STOP (VERT.) E9-0314 |[D.O.H.-71/16" 4 FH SMS (AB) FC1016 | 8 STEEL #10x 1" FOR DOOR ASSMEBLY
: LABEL E4-0002 | 2 ALUMINUM FOR HURRICANE DOOR
OP|GLASS STOP (HORIZ.) ES-0339 [D.O.W. -4 11/16" 4 |45°MITER CUT
OP|{GLASS STOP (VERT)) E9-0339 [D.O.H.-71/16" 4
S |[RH PIVOT HINGE (BTM){ E1-0300 | 1 A380, ETC. Y |FOR DOOR FRAME
S |LH PIVOT HINGE (BTM)| E1-0301 | 1 A380, ETC. Y |FORDOOR FRAME
BOTTOM PIVOT HINGE| E1-0302 | 1 | ALUMINUM ETC. Y |[FORDOOR
HEAD ES-0402 {D.O.W. 1 PIVOT HINGE (TOP) E1-0303 | 1 A380, ETC. Y |FOR DOOR FRAME
TOP PIVOT HINGE E1-0304 | 1 | ALUMINUM ETC. Y |[FORDOOR
THRESHOLD E9-0407 |D.O.W. 1 THRESHOLD CLIP E1-0307 | 1 6063-T5
HH-BOLT HM5610-W3| 4 STEEL 5/16" - 18 x 5/8" _ FOR PIVOT HINGE
RIGHT JAMB E9-0421 |D.O.H.+13/4 1 FH MS FM1210 | 5 STEEL #12-24x 5/8" Y |FORPIVOT HINGE
FH MS FM 1208 | 2 STEEL #12-24 x 172" FOR THRESHOLD
LEFT JAMB E9-0421 |D.O.H. +13/4" 1 FH MS FM1210 | 2 STEEL #12 - 24 x 5/8" Y |FOR THRESHOLD CLIP
FH MS FM 1208 | 2 STEEL #12 - 24 x 172" FOR THRESHOLD CLIP
AT. GASKET E2-0051 PVC 2D.0.H. + D.O.W. - ‘ C
PH SMS(AB) PC1216 | 4 STEEL #12x 1" FOR FRAME ASSMEBLY
op|DOOR SWEEP BASE E9-0347 |{D.O.W.-9/16" 1
op|{DOOR SWEEP COVER E9-0348 |D.O.W.-9/16" 1 '
' OP|DOOR SWEEP GASKET | E2-0067 | 2 EPDM D.0O.W. - 9/16" C
oP|PH MS PM 1008 | 8 STEEL #10 x 1/2" FOR DOOR SWEEP BASE
QUTSIDE VIEW | DEPTH |13/4"|SYSTEM 20D HURRICANE DOOR W/ SHUTTER
DESCRIPTION
SINGLE DOOR (1/2)
FINISH -
— —t ANODIZED & PAINTED
3 ~ 3 NOTE: REV DESCRIPTION BY DATE
/- - N - SIZE MAX DOW.=3.0" APPROVED AS COMPLYING W!TH THE A |M.-DADE REQUIREMENT MLT | 06/09/97
7 . DOH.=7-0" SOUTH FLORIDA BUILDING CODE B |REVISED APPLICATION A.Ol | 02/27/98
q : Mlod DATE, C |M-DADE REQUIREMENT | DHM | 08/13/98
N /! ) By
patso ENE e g R0DUCT contrLBision
N - . - GLAZING SINGLE BUILDING CODE COMPLIANCE OFFICE NO. 20D | C
o | vae T e ] e LT SELECTION PART LOOSE PART  acceprance no, £9- 0 708.0] KO8 BY DATE SHEET NO.
OPTION PART Y: COLOR INDICATED PST 09/18/96 50F8
F:\LIST\DOOR\DADE XLS (200S1)




MATERIAL LIST PARTLIST A Mmerica"
DESCRIPTION SHAPE # CUT FORM QTY NQOTE REV | DESCRIPTION | PART # [QTY]| MATERIAL | LENGTH [COLOR| REMARK [REV]
- < FOR STANDARD DOCR >
PULL PLATE £1-0051 | 1 6063-T5 11" Y
PUSH BAR/PLATE E1-0055 | 1 6063-T5 D.O.W./2-3.819" Y
PUSH BAREND CAP | E1-0056 | 1 ZINC & ACETAL Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
SHOULDER BOLT P4193 | 1 STEEL 1/4" - 20 X 2 1/4" .
HWH BOLT HM2512-W3| 1 STEEL 1/4" - 20 X 3/4"
HWH NUT HM2500-W3| 1 STEEL 1/4"- 20
< FOR PANIC DOOR >
S [PANIC PULL P4304 | 1 ALUMINUM Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
S [PULL PLATE E1-0051 | 1 6063-T5 11" Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
< FOR STANDARD DOOR >
HOOK LOCK P-2100 | 1 VARIOUS ADAMS RITE: MS1852S C
S [FACE PLATE (RH) P-2104 | 1 ALUMINUM Y
S |FACE PLATE (LH) P-2105 | 1 ALUMINUM Y
KEY CYLINDER P-2600 | 2 VARIOUS Y [TESKEY: ST-1300 C
TRIM RING P-2601 2 ALUMINUM Y ,
SPACER E2-0060 | 3 | POLYETHYLENE FOR FACE PLATE [
FH MS FM1030 | 2 STEEL #10-32 X 17/8" FOR HOOK LOCK
FH MS FM 0806 | 3 STEEL #8 - 32 X 3/8" Y |FORFACE PLATE
< FOR PANIC DOOR > .
S |EXIT DEVICE pP-2362 1 VARIOUS Y  |DOR-O-MATIC: 1490 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
S [EXIT DEVICE P-2323 | 1 VARIOUS Y  |DOR-O-MATIC: 1990 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
FLAT FILLER E1-1054 | *10 6063-T5 21/2" FOR DOOR JAMB
< ANCHOR SCREW >
S |(FOR STRUCTURAL SUPPORT) .
FH SMS (AB) FC 1428 | *3 STEEL #14 X 1 3/4" FOR THRESHOLD
FH SMS (AB) FC 1456 | *13 STEEL #14 X 3 1/2" FOR HEAD & DOOR JAMB
OUTSIDE VIEW | DEPTH |2 3/8"|SYSTEM 20D HURRICANE DOOR W/ SHUTTER
DESCRIPTION - S |(FOR MASONRY)
SINGLE DOOR (2/2) FH TAPCON FS2536 | *3 STEEL 1/4" X 2 1/4" FOR THRESHOLD '
FINISH FH TAPCON FS 1460 | *13 STEEL 1/4" X 3 3/4" FOR HEAD & DOOR JAMB
— — ANODIZED & PAINTED
il N S’ NOTE: * QTY FOR MAXIMUM SIZE I - REV DESCRIPTION BY DATE
v z N z SZE MAX DOW =3 -0 APPROVED AS COMPLYING WITH THE A |M.-DADE REQUIREMENT MLT | 06/09/97
4 . DOH.=7-0" SOUTH ?Rmﬁ- BUILDING CODE B |REVISED APPLICATION A.Ol | 02/27/98
10 MloE DATE “VJ% C |M-DADE REQUIREMENT | DHM | 08/13/98
AN / 2 L
N . N // 3 ﬁum conRo s ;
N - - - GLAZING SINGLE BUILDING CODE CompLiance ofpice | NO. 20D | C
e | P | I S | R [ [5] SELECTION PART LOOSE PART sccepthce no, 9929 7052/ |CKDBY A s SHEeT .
OPTION PART Y: COLOR INDICATED PST 09/18/96 6 OF 8
F:\LISTDOOR\DADE.XLS (20DS2)




MATERIAL LiST PART LIST
DESCRIPTION SHAPE # CUT LENGTH | aiY CUT FORM REV [ DESCRIPTION | PART# [Q1Y| MATERIAL | LENGTH [COLOR] REMARK REV]
TOP RAIL E9-0305 |D.O.W.2-4 716" 2 ~FOR ALLDOOR >
[JOINT CLIP E1-0308 | 4 6063-T5 FOR TOP RAIL
JOINT CLIP £1-0308 | 4 6063-T5 FOR BOTTOM RAIL
BOTTOM RAIL E9-0306 |D.OW./2-4 716" 2 BACKER PLATE E1.0311 | 8 | SPCC or SPHC FOR £1-0308 & £1-0309
RIV NUT P5002 | 2 ALUMINUM | 1/4" - 20 FOR ADJUSTMENT
LEFT STILE E9-0301 |D.O.H.-13/16" 1 RIV NUT P-5003 | 4 STEEL 1/4" - 20 FOR PANIC PULL
(HINGE SIDE) GLAZING GASKET E2-0050 EFDM 2 DOW.+80.0H. -92 172" c
SETTING BLOCK £2-0054 | 2 EPDM C
RIGHT STILE E9-0301 _|D.0.H. - 13/16" 1 WEATHER STRIP E2-0087 POLYPROPYLENE |D.O.H. - 13/16" c
(HINGE SIDE) ASTRAGAL E2-0066 | 7 NEOPRENE c
GLASS SPACER £3-0004 | 4 POLYAMIDE c
MEETING STILE E9-0320 |D.OH.-13/16" 1 ADJUSTABLE CAP E3-0005 | 2 POLYAMIDE c
(ACTIVE SIDE) :
SHBOLT SM 3810 | 12 STEEL 3/8" - 16 x 5/8" FOR JOINT CLIP
MEETING STILE ES-0303 |D.O.H. - 13/16” 1 PH MS PM 2528 | 2 STEEL 14 -20 % 1 34" FOR ADJUSTMENT
(INACTIVE SIDE) FH SMS (AB) "FC 1016 | 16 STEEL #10x1° FOR DOOR ASSMEBLY
FH SMS (AB) FC0812 | 7 STEEL #8 x 3/4" Y [FOR MEETING STILE COVER
MEETING STILE COVER E90332 |D.OH.-13/16" 1 LABEL E4-0002 | 2 ALUMINUM FOR HURRICANE DOOR
GLASS STOP (HORIZ) £9-0314 |D.OW./2-5 172" 8
GLASS STOP (VERT.) £9-0314 |D.OH.-7 1/16° 8
OP|GLASS STOP (HORIZ) £9-0339 |D.OW./2-4 11/16" 8 |45°MITER CUT RH PIVOT HINGE (BTM)| E1-0300 | 1 A380, ETC. Y |FOR DOOR FRAME
OP|GLASS STOP (VERT.) E9.0339 |D.OH.-7 1/16° 8 LH PVOT HINGE (BTM)| E1-0301 | 1 A380, ETC. Y |FOR DOOR FRAME
BOTTOM PIVOT HINGE | £1-0302 | 2 | ALUMINUM ETC. Y |FOR DOOR
PIVOT HINGE (ToP) | E1-0303 | 2 A380, ETC. Y |FOR DOOR FRAME
TOP PIVOT HINGE £1-:0304 | 2 | ALUMINUM ETC. Y |FOR DOOR
|HEAD E9-0402 |D.OW. 1 HH-BOLT HMS610-W3| 8 STEEL 5/16" - 18 x 5/8" FOR PIVOT HINGE
FHMS FM 1210 | 10 STEEL #12 .24 x 5/8" Y |FOR PIVOT HINGE
THRESHOLD ES-0407 |D.OW. 3 FH MS FM 1208 | 4 STEEL #1224 x 112" FOR THRESHOLD
RIGHT JAMB £9-0421 |D.OH.+13/4" 1
LEFT JAMB E9-0421 |D.OH. + 13/ 3 AT. GASKET E2-0051 PVC 2D.0H. + D.OW. C
PH SMS(AB) PC 1216 | 4 STEEL #12x 1" FOR FRAME ASSMEBLY
op|DOOR SWEEP BASE E9-0347 |D.OW.2-9/16" 2
op|DOOR SWEEP COVER E9-0348 |D.O.W./2-9/16" 2 GFIOOOR SWEEP GASGKET | E2-0067 | 2 EPDM D.OW.-9/16" C
QUTSIDE VIEW [ DEPTH |1 3/4"|SYSTEM __ 20D HURRICANE DOOR W/ SHUTTER OF|PH MS PM 1008 | 8 STEEL #10 x 1/2° FOR DOOR SWEEP BASE
DESCRIPTION
—L L
— PAIR DOOR (172)
RN N FINISH
y N Z ANODIZED & PAINTED
/ AN NOTE: T REV DESCRIPTION BY DATE
</‘ - 2 SIZE MAX.D.OW.=6-0" APPROVED AS COMPLYING WITH THF A |M.DADE REQUIREMENT | MLT | 06/09/97
. Ml DOH.=7-0" SOUTH FLORIDA BUILDING CODE B _|REVISEDAPPLICATION | A.Ol | 02/27/98
\\ yd Dg',rg_,é)juggﬁg 32090 G [M.DADE REQUIREMENT | DHM | 08/13/98
/ e / ,
THRESHOLD N ‘ 3% Rt e
N S ./ PRODUCT CORT =
GLAZING SINGLE T o [ NO._20D | C
T 2T . BUILDING CODE COMPLANGE OFFICE -
| 3/.-H D.OM. . SELECTION PART LOOSE PART, ,cocoroe o 00-0 70501 CKD BY BY DATE SHEET NO.
' OPTION PART - COLOR INDICATED s B wommem s PST 09/18/96 70OF8
FALIST\DOOR\DADE.XLS (20DP1)




»

OPTION PART

SELECTION PART LOOSE PART
Y: COLOR INDICATED

ACCEPTANGE NO. &2

MATERIAL LIST PART LIST
DESCRIPTION CUT FORM NO DESCRIPTION } PART # EQTVI MATERIAL I LENGTH REMARK REV]
< FOR STANDARDDOOR >
PULL PLATE E1-0051 | 2 6063-15 1" Y
PUSH BAR/PLATE E1-0055 | 2 6063-T5 D.OW/2-3819"
“|PUSHBAREND CAP | E1-0056 | 2 | ZINC & ACETAL
SHOULDER BOLT P4192 | 4 STEEL 174" - 20 X 5/8"
SHOULDER BOLT pP4193 | 2 STEEL T4 - 20 X 2 1/4"
HWH BOLT HM2512-W3| 2 STEEL 174"~ 20 X 3/4"
HWH NUT HM2500-W3| 2 STEEL 174" - 20
< FOR PANIC DOOR >
PANIC PULL P4304 | 2 ALUMINUM WITH PANIC(EXIT) DEVICE
SHOULDER BOLT P4192 | 4 STEEL /4"~ 20 X 5/8"
PULL PLATE E1-0051 | 2 6063-15 11"
SHOULDER BOLT Pa19Z | 4 STEEL 174" - 20 X 58"
< FOR STANDARDDOOR >
HOOK LOCK P-2100 | 1 VARIOUS ADAMS RITE: MS1852S
KEY CYLINDER P-2600 | 2 VARIOUS Y |TESKEY: ST-1300
B TRIM RING p-2601 | 2 ALUMINUM Y
FLUSH BOLT E1-0331 | 2 VARIOQUS Y
FLUSH BOLT GUIDE E10321 | 2 | SPCC or SPHC Y
HOOK BOLT STRIKE | E1-0318 | 1 | STAINLESS STEEL
FH MS FM 1030 | 2 STEEL #10 - 32 X 1 7/8" FOR HOOK LOCK
FH MS FM 0808 | 4 STEEL #8.32 X 112" FOR FLASH BOLT
PH MS PM 0806 | 8 STEEL #8 - 32 X 3/8" FOR FLASH BOLT GUIDE
FLUSH BOLT STRIKE | E1-0319 | 1 | STAINLESS STEEL FOR DOOR FRAME
<FOR PANIC DOOR > :
EXIT DEVICE P-2362 VARIOUS DOR-O-MATIC: 1490 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
EXIT DEVICE P-2323 VARIOUS DOR-O-MATIC: 1990 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
FLAT FILLER E1-1054 6063-T5 21/2" FOR DOOR JAMB
< ANCHOR SCREW >
(FOR STRUCTURAL SUPPORT)
FH SMS (AB) FC 1428 STEEL . #14 X 1 3/4" FOR THRESHOLD
|OUTSIDE VIEW [ DEPTH SYSTEM 20D HURRICANE DOOR W/ SHUTTER FH SMS (AB) FC 1456 STEEL #14 X 3 1/2" FOR HEAD & DOOR JAMB
. DESCRIPTION
= PAIR DOOR (2/2) S |(FOR MASONRY) .
N FINISH FH TAPCON FS 2536 STEEL 174" X 2 1/4" FOR THRESHOLD
- ANODIZED & PAINTED FH TAPCON FS 1460 STEEL 1/4" X 3 3/4" FOR HEAD & DOOR JAMB
NOTE: *QTY FOR MAXIMUM SIZE L REV DESCRIPTION BY DATE
z SIZE MAX.: D.OW.=6"-0" :zsigvz RA:M C:SPQY;ZGC;\STH TH A [M.-DADE REQUIREMENT MLT | 06/09/97
s DOH=7-0" g E B |REVISED APPLICATION A0l | 02/27/98
DAT 02,2002 T IM.-DADE REQUIREMENT | DHM | 08/13/98
Y
. /monucr CONTROL M '
= GLAZING SINGLE BUILDING CODE GOMPLIANCE OFFICE [ C
Jo-9705 -2 BY DATE SHEET NO.

PST 09/18/96 gOF8

" FALISTDOOR\DADE.XLS (20DP2)




